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Roll No. .................................

NARAYAN TALENT SEARCH EXAMINATION, 2012-13
Time 3 Hrs. M.M. 150CLASS - V

Direction :-

1. The question paper has six parts. All questions are to be attempted.

iz'u i= ds N% Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is

correct. Identify and put a Darken for it on the answer sheet. No other mark is

acceptable.

izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj
mÙkj iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writing

is not accepted.

iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k

fpUg ekU; ugha gksxkA

MENTAL ABILITY

Directions (Q1 to Q. 9)

Find the missing term

yqIr in Kkr djks

1 7 : 49   : :   ?  :  81

a) 8 b) 10 c) 13 d) 9

2 5 : 8   : :   15  :  ?

a) 20 b) 21 c) 18 d) 19

3
1

3
  :  

1

9
    : :   

1

4
  :  ?

a) 
1

8
b) 

1

2
c) 

1

16
d) 

1

12

4
1

5
  :  

1

10
    : :   

1

2
  :  ?

a) 
1

4
b) 

1

6
c) 

1

10
d) 

1

12
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5. 81 : 49   : :   25  :  ?

a) 5 b) 9 c) 10 d) 4

6. A : Z   : :   B  :  ?

a) Y b) X c) C d) E

7. ACEG : BDFH :: CEGI : ?

a) DFHJ b) EGIK c) KIGE d) DHIK

8. IJK : KJI :: MON : ?

a) MON b) ONM c) NOM d) NMO

9. GIK : HJL :: MOQ : ?

a) LNP b) NPS c) NPR d) LMP

Directions (Q10  to  Q. 14)

Choose the odd one

milaxr NkafV, %

10. a) 10 b) 26 c) 24 d) 21

11. a) 15 b) 11 c) 41 d) 97

12. a) 3 - 5 b) 5 - 3 c) 6 - 2 d) 7 - 3

13. a) Boy b) Soldier c) Girl d) Man

a) yM+dk b) flikgh c) yM+dh d) iq#"k

14. a) Eye b) Ear c) Nose d) Hand

a) vk¡[k b) dku c) ukd d) gkFk

Directions (Q.15 to Q. 18)

Complete the series :

Ja[kyk iwjh djks %

15. 1, 3, 7, 13, 21,  ........ ? ........

a) 27 b) 29 c) 31 d) 10

16. a __ C __ bca __ c __ bc __ bc

a) babaa b) bbaab c) babab d) ababa

17. U, O, I, .... ? ..., A

a) C b) A c) B d) E
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18. 0.5, 1.5, 4.5, 13.5, .............

a) 40.5 b) 30.5 c) 39.5 d) 45.5

Directions (Q.19 to Q. 20)

Arrange these words according to English Dictionary.

'kCnksa dks vaxzsth o.kZekyk ds Øe esa O;ofLFkr dhft, %

19. a) Hedge b) Heavy c) Hesitate d) Heredity

20. a) Guarantee b) Group c) Groan d) Grostesque

Directions (Q.21to Q. 22)

Read the following information and answer the questions based on it.

fuEufyf[kr tkudkjh dks if<+, vkSj m ij vk/kkfjr iz'uksa ds mÙkj nhft, %&

(i) A and B are brothers (ii) C is the sister of A

(iii) D is the brother of E (iv) E is the daughter of B

i) A vkSj B HkkbZ gSA ii) C, A dh Hkgu gSA

iii) D, E dk HkkbZ gSA iv) E, B dh iq=h gSA

21. Who is the uncle of D ?

D dk pkpk dkSu gS \

a) B b) E c) A d) C

22. Who is the aunt of D ?

D dh cwvk dkSu gS \

a) E b) A c) B d) C

Directions (Q.23to Q. 25)

Selection of the similar word.

lkeku xq.k okys 'kCn dk p;u djks %

23. (15, 25, 35)

a) 6, 30, 42 b) 6, 36, 46 c) 7, 49, 69 d) 8, 8, 80

24. (53, 40, 27)

a) 58, 27, 18 b) 77, 63, 50 c) 93, 80, 67 d) 39, 26, 13
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25. (B, F, J)

a) M, Q, U b) S, W, Z c) R, U, Y d) D, G, K

Directions (Q.26 to Q. 30)

26. How many triangles in the given figure ?

fuEu vkd`fr esa fdrus f=Hk qt gS \

a) 8 b) 10 c) 9 d) 12

27. How many rectangles in the figure ?

fuEu vkd`fr esa fdrus vk;r gS \

a) 11 b) 12 c) 5 d) 15

28. If 'a' means '+', 'b' means '-', 'c' means '÷' and 'd' means 'x' then the expression of

16a4b3c4d2= ?

;fn 'a' dk vFkZ '+', 'b' dk vFkZ '-', 'c' dk vFkZ '÷' rFkk 'd' dk vFkZ 'x' gks rks 16a4b3c4d2= ?

a) 10 b) 17 c) 18.5 d) 
21

2

29. If '÷' means '-', '+' means 'x', '-' means '+' and 'x' means (÷) then 64x4+5-4÷2 = ?

;fn '÷' dk vFkZ '-', '+' dk vFkZ 'x', '-' dk vFkZ '+' rFkk 'x' dk vFkZ (÷) gks rks 64x4+5-4÷2 = ?

a) 
104

20
b) 259 c) 82 d) 52

30. If '÷' means '-', '-' means 'x', 'x' means '+' and '+' means (÷) then 20 x 60 ÷ 40 - 20 = ?

;fn '÷' dk vFkZ '-', '-' dk vFkZ 'x', 'x' dk vFkZ '+' rFkk '+' dk vFkZ (÷) gks rks 20 x 60 ÷ 40 - 20 = ?

a) 40 b) 0 c) 80 d) 60
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MATHS

31. Which of the following is not correct fuEufyf[kr esa ls dkSu lk lR; ugha gS

a) Perimeter of the rectangle = 2x(l+b) vk;r dk ifjeki = 2 x ¼yackbZ$pkSM+kbZ½

b) Area of rectangle = length x breadth vk;r dk {ks=Qy = yackbZ x pkSM+kbZ

c) Perimeter of the square = 4xside oxZ dk ifjeki = 4 x Hk qtk

d) Area of the square = side x side x side square unit  oxZ dk {ks=Qy = Hk qtkxHk qtkxHkqtk oxZ bZdkbZ

32. The fencing of a square is 76cm. Its side be .....................

oxZ dk ifjeki 76 lS eh gSA mldh Hk qtk fdruh gksxh A

a) 304cm b) 19cm c) 38cm d) 90cm

33. The greatest five digit number that can be formed with digits 7,4,3,5,9 ?

vadksa 7,4,3,5,9 ls cuh ikap vdksa dh cM+h ls cM+h la[;k gksxh \

a) 79543 b) 93754 c) 97543 d) none

34. The least common multiple of 10 & 15 is

la[;kvksa 10 vkSj 15 dk lcls NksVk mHk;fu"B xq.kt gSA

a) 5 b) 10 c) 15 d) 30

35. H.C.F. of two consecutive odd prime number

nks Øexr fo"ke vHkkT; la[;kvksa dk egRelekiorZd gSA

a) 15 b) 3 c) 1 d) 5

36. An aeroplane covers 1020 km in an hour the distance cover in 4
1

6
 hours be ?

,d gokbZ tgkt ,d ?k.Vs eas 1020 fdeh nwjh r; djrk gSA 4
1

6
 ?kUVksa eas fdruh nwjh r; djsxk\

a) 4250 km b) 2125 km c) 2025 km d) None

37. Total students in class I to V in Vidya Bharti Akhil Bhartiya Shiksha Sansthan are 7325178.

Out of these 336769 are girls then boys are ?

fo|kHkkjrh vf[ky Hkkjrh; f'k{kk laLFkku ds d{kk izFke ls iape rd fo|kfFkZ;ksa dh dqy la[;k

7325178 gS ftleas 336769 yM+fd;k¡ gS rks yM+dksa dh la[;k D;k gksxh \

a) 6980409 b) 6988409 c) 6988419 d) None
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38. Which of the following numbers are divisible by 2 but not by 4

fuEufyf[kr eas ls dkSu lh la[;k,¡ 2 ls foHkkftr gksxh ijUrq 4 ls ugha \

326, 528, 1016, 402, 9312

a) 326, 528, 1016, 402   b) 326, 402 c) 1016, 528, 9312 d) 402, 9312

39. Which of the following is/are incorrect ?

buesa ls dkSulk xYr gS \

a) A triangle has three vertices ,d f=Hkqt ds rhu 'kh"kZ gksrs gSaA

b) The measure of straight line is 1800 lh/kh js[kk dh eki 1800 gksrh gSA

c) The lines which never meet each other are called parallel lines

    dHkh ugha feyus okyh js[kk,a lekUrj js[kk,a dgykrh gSaA

d)Sum of two right angles is 1700 nks ledks.kksa dk tksM+ 1700 gS

40. Which of the following is/are not true

a) The normal temperature of a healthy person is 370C.

,d LoLFk O;fDr dk lkekU; rkieku 370C gksrk gSA

b) The normal temperature of a normal healthy person is 98.60F.

,d lkekU; LoLFk O;fDr ds 'kjhj dk rkieku rkieku 98.60F gksrk gSA

c) Thermometer used by doctor is called clinical thermometer

fpfdRld }kjk iz;ksx fd;s tkus okys rkiekih dks mipkfjd rkiekih dgrs gSaA

d) 300C is equal to 800F        300C leku gksxk 800F ds
a) a, b b) b, c c) d, c d) Only d

41. 3 hours 12 minutes & 48 second is represented by a seconds. Then value of A equals ?

3 ?k.Vs 12 feUV vkSj 48 lSd.M dks A lSd.M ls n'kkZ;k tkrk gSA rc A dk eku gksxk \

a) 11655 seconds b) 11565 seconds c) 11568 seconds d) None

42. Which of the following is not true ? fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS \

a) 6 weeks = 42 days b) 24 months = 2 years

6 lIrkg = 42 fnu 24 eghus = 2 o"kZ

c) 2 hours 25 minuts = 145 minutes d)  43 months = 3 years and 6 months

2 ?kaVs 25 feUV = 145 feUV 43 eghus = 3 o"kZ vkSj 6 eghus
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43. Mr. Sharma buy a colour TV for Rs. 12,500. He sold it to his friend at a loss of Rs. 2000

then selling price of T.V. equals ?

feLVj 'kekZ us ,d jaxhu Vh oh 12500 : eas [kjhnk vkSj vius nksLr dks 2000: dh gkfu ls csp

fn;k] Vh oh dk foØ; ewwY; D;k gksxk \

a) Rs. 12500 b) Rs. 14500 c) Rs. 10500 d) None

44. The predecessor of 985120 and successor of 8925799 are respectively ?

la[;k 985120 dh iwoZorhZ rFkk 8925799 dh ifjorhZ la[;k Øe'k% gksxh \

a) 985119 and 8925800 b) 985121 and 8925798

c) 895119 and 9825800 d) None of these

45. A factory produced 3,38,921 switches in 2011 and 4,57,219 switches in 2012. The increase

in the prdouction equals.

,d QSDVjh eas o"kZ 2011 eas 3,38,921 fLop dk mRiknu gqvk vkSj 2012 eas mRiknu c<+dj

4,57,219 gks x;k gks rks c<+k gqvk mRiknu gksxk \

a) 7,96,140 b) 1,18,298 c) 117298 d) None of these

46. The half of the straight angle is

jSf[kd dks.k dh eki dk vk/kk gksxk \

a) 750 b) 650 c) 900 d) 450

47. Which of the following is false ?

fuEufyf[kr eas ls dkSu lk dFku vlR; gSA

a) All the diameters of a circle are equal in length

,d o`r ds lHkh O;kl leku yEckbZ ds gksrs gSaA

b) Radius of a circle is half of its diameter

o`r dh f=T;k] O;kl dh vk/kh gksrh gSA

c) If all sides of a triangle are equal then it is called scalene triangle

lHkh Hkqtk,a leku gksus ij f=Hk qt fo"keokgq f=Hk qt dgykrk gSA

d) 3.08 < 3.80

48. Write  the short form of (lw{e :i eas fy[ksa)

254 40 4
6

10

9

100
+ + + +

a) 294.69 b) 298.69 c) 298.609 d) None of these
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49. Which of the following is/are group of like decimals ?

fuEufyf[kr eas ls dkSu lk [k.M leku n'keyo iznf'kZr djrk gS \
a) 15.2, 181.7, 0.3, 18.9 b) 98.5, 3.12, 14.37, 1.003

c) 2.134, 7.43, 5.07, 91.089 d) None of these

50. The value of 87.004 - 15.43

87.004 - 15.43 dk eku gksxk
a)  71.570 b) 71.574 c) 61.574 d) None of these

51. The length of the garden whose area is 512m2 and width is 16m, is ............

ckx dh yEckbZ D;k gksxk ftldk {ks=Qy ,oa pkSM+kbZ Øe'k% 512 eh2 rFkk 16 eh gSA
a) 32m b) 64m c) 16m d) None of these

52. The difference between the perimeters two square plots of sides 1.2m and 130cm

respectively is.

nks oxkZdkj Hkw[k.Mksa ds ifjekiksa dk varj ftudh Hk qtk,¡ Øe'k% 1.2 eh vkSj 130 lseh gSA
a) 80cm b) 30cm c) 40cm d) 4cm

53. The multiplecative inverse of 
1

2

1

3

1

4
+ +  is

1

2

1

3

1

4
+ +  dk xq.kkRed O;qRØe gS

a) 
13

12
b) 

9

13
c) 

12

13
d) None of these

54. The volume of rectangular water tank of dimentions 9mx8mxh m is 1008 m3. Then h equals

vk;rdkj ikuh ds VSad ftldh foek,¡ 9 eh- x 8eh x h eh. gSa dk vk;ru 1008 eh3 gS rks VSad dh

ÅapkbZ gksxh A

a) 9m b) 8m c) 14m d) None of these

55. Read the graph and select which of the following is/

are false statements.

fuEufyf[kr xzkQ dks i<+ks vkSj vlR; dFku dks pquksA

a) 350 employes use car

350 deZpkjh dkj dk iz;ksx djrs gSaA

b) 250 more employes travel by car then by bus

cl dh rqyuk eas dkj ls 250 vf/kd deZpkjh ;k=k djrs

gSaA

c) The difference between the greatest 2 the smallest

uses of different transport is 250.

350

300

250

200

150

100

50

0

-

-

-

-

-

-

-

Car

Bus

Employes

Train

Others
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fdlh Hkh lk/ku ls ;k=k djus okys vf/kdre ,oa U;wure

deZpkfj;ksa dk varj 250 gSA

d) Total number of employes are 700

lHkh deZpkfj;ksa dh dqy la[;k 700 gSA

56. The angle whose measure lies between 00 to 900 is called

og dks.k ftldh eki 00 ls 900 ds e/; fLFkr gksrh gS dgykrk gSA

a) Acute angle ¼U;wu dks.k½ b) Obtuse angle ¼vf/kd dks.k½

c) Right angle ¼ledks.k dks.k½ d) Straight angle ¼jSf[kd dks.k½

57. The additive inverse of the reciprocal of 
2

7

5

6
x is

2

7

5

6
x  ds O;qRØe dk ;ksT; izfryksHk gksxk \

a) 
5

21
b) 

−21

5
c) 

21

5
d) 

−5

21

58. The number to be divided is called

ftl la[;k dks Hkkx fd;k tkrk gS bls dgrs gSa \

a) Divisor ¼Hkktd½ b) Remainder ¼'ks"kQy½ c) Quotient ¼HkkxQy½d) Dividend ¼HkkT;½

59. 27 minutes 36 seconds is equal to .............. seconds.

27 feUV 36 lSfd.M eas fdrus lSfd.M gksrs gSaA

a) 1650 seconds b) 1656 seconds c) 63 seconds d)  None ¼dksbZ ugha½

60. The cost of 3 tables is Rs. 6420. Then cost of such 1 table is

3 estkas dk ewY; 6420: gS rks ,slh ,d est dk ewY; gksxk \

a) 2148 Rs. b) 2140 Rs. c) 19260 Rs. d) 6423 Rs.
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E.V.S.

Choose the right answer

61. The process of making food in plants is called .................

a) Respiration b) Experiment c) Reproduction d) Photosynthesis

ikS/kksa esa Hkkstu cukus dh izfd;k dks D;k dgrs gSa \

a) 'olu b) iz;ksx c) iztuu d) izdk'k la'kys"k.k

62. The ability of animals to adjust themselves according to their surroundings is called

a) Stimulation b) Adaptation c) Hibernation d) None of these

tho tUrqvksa dh Lo;a dh vius ifjos'k ds vuq#i <kyus dh {kerk dks D;k dgrs gSa \

a) mÙkstuk b) vuqdwyu c) 'khr funzk d) buesa ls dksbZ ugha

63. Animal which hibernate ?

a) Lizard b) Horse c) Whale Fish d) Lion

,slk tUrq tks 'khr funzk dh voLFkk esa pyk tkrk gS \

a) fNidyh b) ?kksM+k c) Ogsy eNyh d) 'ksj

64. Name the animal that could not adjust to its environment and has been extinct ?

a) Lion b) Elephant c) Snake d) Dianasour

,sls tho dk uke crkvks tks okrkoj.k ds vuqlkj ugha <y ik;k vkSj yqIr gks x;k \

a) 'ksj b) gkFkh c) lk¡i d) Mk;uklksj

65. How do the seeds of plants disperse from one place to another ?

a) Through air b) Through animals c) Through water d) All of the above

ikS/kksa ds cht ,d LFkku ls nwljs LFkku rd dSls igq¡prs gSa \

a) gok }kjk b) tkuojksa }kjk c) ikuh }kjk d) mijksDr lHkh

66. Which is not necessary condition for germination ?

a) Soil b) Seed c) Water d) Fertilizer

chtksa ds vadqj.k ds fy, dkSu lh ifjLFkrh vko';d ugha gS \

a) e`nk b) ikuh c) cht d) moZjd
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67. Which part of plant plumule develops into later on ?

a) Stem b) Leaves c) Branches d) Root

izkdqj ckn esa ikS/ks ds fdl Hkkx esa fodkflr gksrk gS \

a) ruk b) Vguh;ka c) ifÙk;ka d) tM+

68. Which cotyledonous is soyabean ?

a) Dicotyledonous b) Monocotyledonous c) A and B Both d) None of these

lks;kchu dkSu lh chti=h gksrh gS \

a) f}cht i=h b) ,d cht i=h c) d vkSj [k nksuks d) buesa ls dksbZ ugha

69. The Longest bone in human body is found in :

a) In the upper part of leg     b) In Skull c) In chest d) In Backbone

ekuo 'kjhj esa lcls yEch gM~Mh gS \

a) Vkax ds Åijh fgLls esa     b) flj esa c) Nkrh esa d) jhM+ dh gM~Mh

70. Joints of elbow are called

a) Gliding joint b) Pivot joint c) Hinge joint d) Ball and socket joint

dksguh dk tksM+ dgykrk gS &

a) fQlyus okyk tksM+ b) dhynkj c) dctsnkj tksM+ d) xsan dVksjh tksM+

71. How many types of jaws are there ?

a) Two b) Four c) Five d) Three

tcM+s fdrus izdkj ds gksrs gSa \

a) nks b) pkj c) ik¡p d) rhu

72. Capacity to do work is called ...........

a) Speed b) Force c) Power d) Energy

dk;Z djus dh {kerk dks D;k dgrs gSa \

a) xfr b) cy c) 'kfDr d) mtkZ

73. Which nutrients give us energy ?

a) Vitamins, Minerals b) Fats, Carbohydrates c) Proteins, water d) All of the above

gekjs 'kjhj dks ÅtkZ iznku djus okys iks"k.k rRo dkSu ls gSa \

a) foVkfeu] [kfut b) olk] dkcksZgkbMªsV c) izksVhu] ikuh d) mijksDr lHkh
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74. Neha is ten years old. Her vision is dim. She is suffering for which vitamin deficiency ?

a) Vitamin C b) Vitamin B c) Vitamin D d) Vitamin A

usgk dh vk;q nl o"kZ gSA mls /kqa/kyk fn[kkbZ nsrk gS \ mls fdl foVkfeu dh deh gS \

a) foVkfeu lh b) foVkfeu ch c) foVkfeu Mh d) foVkfeu ,s

75. Never use any medicine without the advice of ...............

a) Teacher b) Doctor c) Parents d) Friend

fdl dh lykg ds fcuk dHkh Hkh nokbZ;ksa dk iz;ksx ugha djuk pkfg, \

a) v/;kid b) MkdVj c) vfHkHkkod d) nksLr

76. The gas obtained from agricultural wastes is called ...................

a) Biogas b) L.P.G. c) Methane Gas d) Nitrogen Gas

d`f"k mif'k"V ls izkIr xSl dgykrh gS &

a) ck;ks xSl b) ,y-ih-th c) feFksu xSl d) ukbZVªkstu xSl

77. Push or pull which changes the state of an object is called .................

a) Will b) Energy c) Force d) Power

/kDdk ;k f[kpko ftlds }kjk oLrq dh fLFkfr esa ifjorZu vk tk,] D;k dgk tkrk gS \

a) bPNk b) ÅtkZ c) cy d) 'kfDr

78. The solar eclipse occurs when

a) The sun comes in between the moon and earth

b) The moon comes in between the earth and the sun

c) The earth comes in between the moon and sun

d) None of these

lw;Z xzg.k gksrk gS] tc

a) lw;Z] pUnzek vkSj i`Foh ds chp esa vkrk gS b) pUnzek] i`Foh vkSj lw;Z ds chp esa vkrk gS

c) i`Foh] pUnzeka vkSj lw;Z ds chp esa vkrh gSA d) buesa ls dksbZ ugha

79. We get voting right after ...............

a) 20 years b) 25 years c) 21 years d) 18 years

ernku djus dk vf/kdkj dc izkIr gksrk gS \

a) 20 o"kZ esa b) 25 o"kZ esa c) 21 o"kZ esa d) 18 o"kZ esa



V - 13

80. Which neighbouring country is situated in the south of India ?

a) Nepal b) Sri Lanka c) Bangladesh d) Myanmar

dkSu lk iM+kslh ns'k Hkkjr ds nf{k.k es fLFkr gS \

a) usiky b) Jh yadk c) caxyk ns'k d) E;kaekj

81. What is the shape of earth ?

a) Round b) Long c) Flat d) Broad

i`Foh dh vkd`fr dSlh gS \

a) xksy b) yEch c) piVh d) pkSM+h

82. The planet farthest from the sun is

a) Saturn b) Neptune c) Jupiter d) Venus

lw;Z ls lcls nwj xzg gS %

a) 'kfu b) usiP;wu c) c`gLifr d) 'k qØ

83. What is the name of huge water bodies present on earth ?

a) Oceans b) Seas c) Hydrosphere d) Rivers

i`Foh ij ik, tkus oky ty ds fo'kky Hk.Mkj dks D;k dgrs gSa \

a) egklkxj b) lkxj c) tyeaMy d) ufn;ka

84. 'Mera Rang De Basanti Chola' is related to .................

a) Subhash Chander Bose b) Tantia Tope

c) Mahatma Gandhi d) Sardar Bhagat Singh

ßesjk jax ns clarh pksykÞ dk laca/k gS %&

a) lqHkk"k panz cksl b) rkaR;k Vksis c) egkRek xka/kh d) ljnkj Hkxr flag

85. Soil is our :

a) National Wealth b) International Wealth c) Natural Wealth d) State Wealth

feV~Vh gekjh gS &

a) jk"Vªh; lEink b) vUrjk"Vªh; lEink c) izkd`frd lEink d) jkT;lEink
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86. What are the main factors responsible for soil erosion ?

a) Planting mare trees b) Terrace farming

c) Making check dams d) State wealth

Hkwfe dVko dk eq[; dkj.k gS &
a) vf/kd isM+ yxkuk b) lh<+huqek [ksr cukuk

c) pSd MSe cukuk d) taxyks dh va/kk&/k q/k dVkbZ

87. Which is the largest ocean in world ?

a) Arctic ocean b) Indian ocean c) Atlantic ocean d) Pacific ocean

fo'o dk lcls cM+k egkalkxj gS &

a) mÙkjh /kzqo egklkxj b) fgUn egklkxj c) va/k egklkxj d) iz'kkUr egklkxj

88. While climbing mountains the body should be at which position ?

a) 450 b) 900 c) 600 d) 750

ioZrkjksg.k ds le; vius 'kjhj dks dkSu lh fLFkfr esa j[kuk pkfg, \

a) 450 b) 900 c) 600 d) 750

89. Suman weights 72 Kg on earth. How much weight she would have on moon ?

a) 50 Kg. b) 72 Kg. c) 12 Kg. d) 80 Kg.

lqeu dk i`Foh ij Hkkj 72 fdyksxzke gSA pUnzeka ij mldk Hkkj fdruk gksxk \

a) 50 fd-xzke- b) 72 fd-xzke- c) 12 fd-xzke- d) 80 fd-xzke-

90. Which is the northen most state of India ?

a) Himachal Pardesh b) Jammu and Kashmir c) Uttrakhand d) Haryana

Hkkjr dh mÙkjh f'k[kj ij dkSu lk jkT; gS \

a) fgekpy izns'k b) tEew vkSj d'ehj c) mÙkjk[kaM d) gfj;k.kk

91. Where the Jim corbett National Park is situated ?

a) Bihar b) Assam c) Kerla d) Uttrakhand

fte dkjcsV uS'uy ikdZ dgk¡ fLFkr gS \

a) fcgkj b) vle c) dsjy d) mÙkjk[k.M

92. From where chillies came to our country ?

a) Japan b) South America c) England d) None of these

gekjs ns'k esa lcls igys fepZ dkSu ls ns'k ls ykbZ xbZ \

a) tkiku b) nf{k.k vesfjdk c) baxySaM d) buesa ls dksbZ ugha
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93. Earthday is celebrated on every year :

a) 22 March b) 22 April c) 7 August d) 14 November

izR;sd o"kZ ßi`Foh fnolÞ dc euk;k tkrk gS \

a) 22 ekpZ b) 22 vizSy c) 7 vxLr d) 14 uoEcj

94. President hoist the National Flag Red Fort on

a) Gandhi Jayanti b) Independence day c) Republic day d) None of these

jk"Vªifr yky fdys ij jk"Vªh; /kot dc Qgjkrs gSa \

a) xka/kh t;Urh b) LorU=rk fnol c) x.krU= fnol d) buesa ls dksbZ ugha

95. Quinine is prepared from the bark of which tree ?

a) Neem b) Cinchona c) Jamun d) All of these

dquhu fdl isM+ dh 'kk[kk ls izkIr gksrh gS \

a) uhe b) fludksuk c) tkequ d) bu lHkh ls

96. When did Gandhiji protest salt law ?

xka/kh th us ued lR;kxzg dc 'kq# fd;k \

a) 1930 b) 1942 c) 1935 d) 1940

97. Which among the following is rich in Vitamin C ?

a) Milk b) Mango c) Sugar d) Orange

buesa ls fdl esa foVkfeu lh izpwj ek=k esa gksrk gS \

a) nw/k b) vke c) phuh d) larjk

98. Which among the following gives maximum energy ?

a) Fats b) Prteins c) Minerals d) Carbohydrates

buesa ls dkSu lk iks"kd rRo lcls T;knk ÅtkZ iznku djrk gS \

a) olk b) izksVhu c) [kfut d) dkcksZgkbZMªsV

99. Name the woman who climbed Mount Everest at 5th number in the world ?

a) Tenzing Norgay b) Sunita William c) Bachendri Pal d) None of these

ml efgyk dk uke crkvks tks fo'o esa ekÅaV ,sojsLV ij p<+us okyh ikapos uacj ij gSA

a) rsuftax uksxsZ b) lquhrk fofy;e c) cNsUnzh iky d) buesa ls dksbZ ugha
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100. When did Neil Armstrong put first step on the moon ?

uhy vkeZLVªkax us pUnzek ij igyk dne dc j[kk \

a) 1930 b) 1969 c) 1950 d) 1975

101. Name the scientist who found that Mosquitoes spread malaria.

a) J.C.Basu b) Ronald Ross c) Einstein d) None of these

dkSu ls oSKkfud us [kkst dh fd ePNj eysfj;k QSykrs gSa \

a) ts-lh-clq b) vkbUlVhu c) jksukyM jkl d) buesa ls dksbZ ugha

102. Children do not grow properly due to which of the following disease ?

a) Anaemia b) Rickets c) Obesity d) All of these

buesa ls dkSu ls jksx ds dkj.k cPPksa dk lkekU; fodkl ugha gksrk \

a) vuhfe;k b) fjdsV~l c) eksVkik d) mijksDr lHkh

103. Name the place which is surrounded by water from all sides.

a) Plateau b) Valley c) Island d) None of these

ml LFkku dks D;k dgrs gSa tks pkjksa vksj ls ikuh ls f?kjk gqvk gks \

a) iBkj b) ?kkVh c) }hi d) buesa ls dksbZ ugha

104. Which is the ultimate source of energy ?

a) Sun b) Plants c) Air d) Water

gesa ÅtkZ iznku djus dk eq[; L=ksr D;k gS \

a) lw;Z b) ikS/ks c) gok d) ikuh

105. Who discovered gravitational force ?

a) Graham Bell b) Issac Newton c) J.J. Thomson d) William Wordsworth

xq#Rokd"kZ.k dh [kkst dkSu ls oSKkfud us dh \

a) xzkge cSy b) ts-ts-Fkkelu c) vkbZ lsd U;wVu d) fofy;e oMZt+oFkZ

106. Which of following gives red colour to the blood ?

a) Iron b) Iodine c) Calcium d) Fluoride

buesa ls fdlds dkj.k [kwu dk jax yky gksrk gS \

a) vk;ju b) vk;ksMhu c) dSyf'k;e d) QyksjkbZM
107. Bhuvaneshvar is the Capital of which state ?

a) Goa b) Kerala c) Jharkhand d) Orissa

Hkqous'koj fdl izns'k dh jkt/kkuh gS \

a) xkSvk b) dsjy c) >kj[kaM d) mMhlk
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108. Which is the longest river in the world ?

a) Ganga b) Nile c) Yamuna d) Brahamputra

fo'o esa lcls cM+h unh dkSu lh gS \

a) xaxk b) uhy c) ;equk d) cãiq=

109. Which country was earlier known as Burma ?

a) Myanmar b) Pakistan c) Sri Lanka d) Nepal

dkSu lk ns'k igys cekZ ds uke ls tkuk tkrk Fkk \

a) E;kaekj b) ikfdLrku c) Jh yadk d) usiky

110. Which is the folk dance of Gujrat ?

a) Bihu b) Garba c) Ghoomer d) Bhangra

xqtjkr dk yksdu`R; dkSu lk gS \

a) fcgw b) xjck c) ?kwej d) HkkaxMk

111. Who led the Indian National Army to fight against the British ?

a) Lala Lajpat Rai b) Mahatma Gandhi c) Subhash Chander Bose d) Both B and C

vaxzst+ksa ds fo#) Hkkjrh; uS'kuy vkehZ ¼vkt+kn fgan QkSt½ dh LFkkiuk fdlus dh \

a) ykyk yktirjk; b) egkRek xka/kh c) lqHkk"k pUnz cksl d) [k rFkk x nksuks

112. Which gas helps to extinguish the fire ?

a) Oxygen b) Carbondioxide c) Nitrogen d) Argon

vkx cq>kus ds fy, dkSu lh xSl lgk;rk djrh gS \

a) vkDlhtu b) dkcZuMkbvkDlkbZM c) ukbZVªkstu d) vkxZu

113. Which is the natural satellite of earth ?

a) Moon b) Aryabhatta c) Sputnik d) None of these

i`Fkoh dk izkd`frd mixzg dkSu lk gS \

a) pUnzeka b) vk;ZHkV~Vk c) Liwufrd d) buesa ls dksbZ ugha

114. Which state has two capitals ?

a) Assam b) Uttranchal c) Jammu and Kashmir d) Maharashtra

dkSu ls jkT; dh nks jkt/kkfu;ka gS \

a) vle b) mÙkjkapy c) tEew&d'kehj d) egkjk"Vª
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115. Varindavan garden and Chamundi hills are located in which city ?

a) Ooty b) Mysore c) Chandigarh d) Shimla

o`ankou ckx rFkk pkeq.Mh egkM+h dkSu ls 'kgj ess fLFkr gS \

a) ÅVh b) eSlwj c) paMhx<+ d) f'keyk

116. The leaves of the plants of desert are

a) Pointed b) Long c) Broad d) Small

jsfxLrkuh ikS/kksa dh ifÙk;ka gksrh gS %

a) uksdnkj b) yEch c) pkSM+h d) NksVh

117. How many bones are there in an adult human being  ?

ekuo 'kjhj esa dqy fdruh gfM~M;k¡ gksrh gSa \

a) 306 b) 310 c) 206 d) 110

118. Melting of large amount of snow on the hills cause

a) Drought b) Food c) Storm d) None of these

igkM+ksa ij cQZ fi|yus ds dkj.k D;k gksrs gSa \

a) lw[kk b) ck<+ c) rwQku d) buesa ls dksbZ ugha

119. Which colour is used to show vegetation on a map ?

a) Blue b) Yellow c) Brown d) Green

buesa ls dkSu dk jax ouLifr dks n'kkZus ds fy, mi;ksx fd;k tkrk gS \

a) uhyk b) ihyk c) Hkwjk d) gjk

120. Which instrument is used to measure the intensity of an earthquake ?

a) Barometer b) Seismograph c) Thermometer d) Hygrometer

HkwdEih rjaxksa dks ekius ds fy, dkSu lk ;a= iz;ksx fd;k tkrk gS \

a) ok;qnkcHkkih b) flLeksxzkQ c) FkekZehVj d) vknzZekHkk"kh
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ENGLISH

Read the following passage carefully and answer the questions that follow:

The water cycle is an exciting and continuous process. The water cycle is the movement

of water in the environment by evaporation, Condensation and precipitation. The warm

sun causes water on the Earth to evaporate and rise up into the sky. The water vapours

that are formed, cool during evaporation. This is what form clouds that float in the sky.

Clouds can be a mass of water droplets and/or ice particles. When the clouds get heavy

enough, the water falls back to the earth. Condensation is the change of a gas such as

water vapours, into a liquid or solid. The water vapours must turn into a liquid or solid

before it can fall to the earth. When the water falls back to the earth, it is called precipi-

tation. The water, may fall as rain, snow or hail. Plants in our environment also release

water vapour into the atmosphere. When plants do this it is called transpiration.

From the given alternatives, choose the best choice as your answer.

121. Water on the earth evaporates due to

a) the earth b) the moon c) the sun d) the stars

122. Clouds are a mass of

a) glaciers b) sand c) water droplets d) Hydrogen

123. Choose the word nearest in meaning to the given word : release.

a) set free b) capture c) to hold d) to fix something

124. Choose the word opposite in meaning to the given word : float.

a) Trot b) Jump c) Swim d) sink

125. Release of water vapours into the atmosphere by plants is called ...................

a) Respiration b) Evaporation c) Transpiration d) Condensation

126. From the given alternatives, select the most appropriate choice to fill in the blanks :

The ................. woman won the beauty pageant.

a) Little beautiful b) More beautiful c) Beautiful d) Most beautiful
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127. Fill in the blanks with suitable preposition :

The cat sat ................. the mat :

a) on b) in c) over d) above

128. Fill in the blanks with suitable article.

Harish is .............. honest boy.

a) No article b) the c) a d) An

129. Fill in the blanks with suitable form of verb :

I ................ my room yesterday (clean)

a) clean b) cleaned c) will clean d) have cleaned

130. Fill in the blanks with suitable personal pronouns :

She is rich but there is no peace in ................. life.

a) she b) his c) her d) hers
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fgUnh

fuEufyf[kr x|ka'k ds vk/kkj ij iz'uksa ds mfPpr fodYi pqudj mÙkj nsaA &

lalkj esa mlh euq"; dk tUe lkFkZd gS] ftlds }kjk ns'k] lekt vkSj tkfr dh

mUufr gqbZ gks A  thou&ej.k dk pØ rks fujarj pyrk jgrk gSA bl

ifjorZu'khy lalkj esa euq"; ;fn ns'k dh tkx`fr vkSj fuekZ.k esa viuk ;ksxnku

djrk gS rks og egku cu tkrk gSA ,sls gh Fks gekjs ;qxiq#"k&egkRek xka/khA

;g gekjs ns'k dk lkSHkkX; gS fd gekjs ;gk¡ le;&le; ij dbZ egkiq#"k gq,

gSA xka/kh th dk tUe 2 vDrwcj lu~ 1869 dks dkfB;kokM+ ds iksjcanj uked

LFkku ij gqvk FkkA bUdk uke eksgunkl j[kk x;kA xka/kh th ds firk dk uke

djepan xka/kh FkkA   xka/kh th dh izjfHkd f'k{kk xqtjkr esa gqbZA vbkjg o"kZ

dh voLFkk esa gkbZ Ldwy ikl djus ds ckn xka/kh th odkyr i<+us baxySaM x,A

os f'k{kdksa vkSj lgikfm;ksa lHkh ds fiz; FksA

131 lalkj esa dSls euq"; dk tUe lkFkZd gS \

d½ ftlds ikl /ku] cy] fon~;k gks [k½ ftlds Hkhrj lPpkbZ

x½ ftlds n~okjk ns'k lekt vkSj tkfr dh mUufr gqbZ gksA

?k½ ftlds n~okjk xjhcksa vkSj t#jreanksa dk mn~/kkj gqvk gksA

132 ;g lalkj dSlk gS \

d½ erych vkSj LokFkhZ [k½ ifjorZu'khy

x½ >wBk vkSj Qjsch ?k½ vifjorZu'khy

133 ;qx iq#"k fdls dgk x;k gS \

d½ egkRek xka/kh dks [k½ ns'kHkDrksa dks

x½ djepan xka/kh dks ?k½ egku yksxksa dks

134 xka/kh th dh izkjafHkd f'k{kk dgk¡ gqbZ Fkh\

d½ fnYyh eas [k½ yanu eas

x½ xqtjkr eas ?k½ dkfB;kokM+ eas
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135 xka/kh th baXySM D;k djus x, Fks \

d½ gkbZLdwy ikl djus [k½ ?kweuss

x½ odkyr djus ?k½ ukSdjh djus

136 ek¡ 'kCn dk i;kZ;okph 'kCn gS

d½ L=h [k½ vkSjr

x½ ukjh ?k½ tuuh

137 ^fujFkZd* 'kCn dk lgh foykse 'kCn gS\

d½ leFkZd [k½ vFkZd

x½ lkFkZd ?k½ vlkFkZd

138 ^ohj* 'kCn dk L=hfyax gS

d½ ohjorh [k½ ohjkaxuk

x½ ohjk.kh ?k½ ohjrkbZ

139 ^iqLrd* 'kCn dk cgqopu gS

d½ iqLrdksa [k½ iqLrd,a

x½ iqLrdsa ?k½ iqLrdk,¡

140 ftlds leku dksbZ nwljk u gks

d½ vuqie [k½ fo"ke

x½ yktokc ?k½ vf}rh;
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laLd`r

fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa ds lgh fodYi pqudj mrj nsaA

,da oue~ vfLrA r= ,d%flg% fuolfrA l% vrho Øwj% A l% izfrfnue~ ,da e`xa

[kknfrA ,dnk flga% vrho {kqf/kr% HkofrA rnk r= ,d% 'k'k% vkxPNfr A l%

vrho prqj% A l% flag i';fr Hkhr% p Hkofr A flag% 'k'kL; lehie~

vkxPNfr A ra [kfnraq rRij% HkofrA rnk 'k'k% jksnua djksfrA flag% 'k'ka i`PNfr&

v;s! Hkoku~ fdeFkZa jksnua djksfr\ 'k'k% onfr&egkjkt! ous ,d% vU;% flag%

vfLRA l% ee iq=ku~ [kfnroku~ A vr% vga jksnua djksfeA flag% iqu% i`PNfr &

dq= vfLr l% vU;% flag% \ 'k'k onkZr lehis ,o ,d% dwi% vfLrA l% r= fuokla

djksfrA flag% fpUr;fr onfrp& ^vga r= xRok i';kfeA ra flag ekj;kfe*A

'k'k% onkZr & egkjkt! vkxPNrqA vga rs n'kZ;kfe A 'k'k% flag dwiL; lehia

u;frA dwitya n'kZ;fr flag% r= LoizfrfcEca i';frA l% dksisu xtZua djksfrA

dwikr~ izfr/ofu HkofrA re~ vU;% flag% bfr l% fpUr;frA dqfir% flag% dwis

dqnZua djksfrA l% r= ,o e`r% HkofrA

141 flag dq= fuolfr
d½ oue~ [k½ dwie~~ x½ x`ge~ ?k½ miou~

142 flag% izfrfnue~ ,da fda [kknfr\
d½ 'k'ka [k½ ew"kd x½ e`xa ?k½ [kxa

143 'k'k% vrho ------------------ Hkofr\
d½ dq'ky% [k½ prqj% x½ ew[kZ% ?k½ Hkhr%

144 'k'kL; lehi d% vkxPNfr\
d½ e`x% [k½ O;k/k% x½ xt ?k½ flag%

145 flag n`"V~ok 'k'k% fda djksfr\
d½ xtZua [k½ dwnZua x½ jksnua ?k½ vpZua

146 vU; flag dq= fuokl djksfr\
d½ ous [k½dwis x½ tyk'k;s ?k½ mious
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147 'k'k% flag dq= u;kZr\
d½ dwiL; lehia [k½ uxjL; lehia x½ ouL; lehia ?k½ flagL; lehia

148 flag% dwitys fda i';fr\
d½ vU; flag [k½ LoizfrfcEc x½ izfrfcEo ?k½ izfr/ofu

149 dqfir% flag% fda djksfr \
d½ dwis jksnua [k½ dwis dwnZua x½ dwis xtZua ?k½ dwis vpZua

150 ^{kqf/kr%* 'kCn dk vFkZ gSA
d½ O;kdqy [k½ Økssf/kr x½ I;klk ?k½ Hkw[kk


